Déleni Cislem 2. Opakovani.

1. Vypocitej. 1. Které &islo musime od jednotlivych &isel
odedéist, nebo pficist, aby byl vysledek 30?

GiZds= b.2= 20:2 =
25 42
8:2= 9.2= 18:2=
4:2= 7.2= 3.2= 38 56
21 79
12:2 = 4 2= 14 : 2 = l
16:2 = 5.2= 10:2 = 2. Vypocitej rozkladem.
a) 36+20= b) 77 +20 = ¢) 14 : 2=
2. Vypodéitej. 48 + 20 = 31 +40 = 18 : 2=
53 + 20 = 82 - 40 = 12 : 2=
a | 8 |16 |10| 6 | 20 | 12 | 18 62 + 30 = 35 - 20 = 6: 2=
. 47 + 40 = 68 - 30 = 20 ; 2=
a:2 53+ 20 = 91 - 80 = 16 : 2=
71 +20 = 44 - 30 = 10 : 2=
3. Vypocitej. 48 + 40 = 55 - 20 = 7. 2=
65 + 20 = 97 - 60 = 0.2=
8:2= 9.2= 12:2= 55 + 30 = 23 - 10 = 8. 2=
2:2= 3.2= 16:2 =
3. Vypocitej.
QHN” mN” h. N”
(58+3) +6= (55-9) +7= (84+9) +5=
185 &= §.2=  20:2= (69+5) +7= (88+3) -5= (42-3) +9=
: 74+9) +9= (49+5) +8= (54-8) +6=
10:2= 7.2= 14:2= (
(62-5) +9= (33+6) +9= (69-5) +9=




